

1.  What is the cost of capital and why is it important? What is meant by the term “weighted average cost of capital?”

· Cost of Capital is the minimum rate of return that a company must earn in order to fulfill the expectations of its investors. Or it is an opportunity cost of making a specific investment. Or it is a rate of return required to persuade the investor to make a given investment. 
· Cost of capital plays a vital role in decision-making process of financial management. The financial leverage, dividend decisions, financial decisions, capital structure, working capital management are greatly influenced by cost of capital.
· Weighted Average Cost of Capital is a firm’s blended cost of capital across all sources including equity shares, preferred shares and debt. Costs are weighted by their percentage of total capital and are added together. 


2. What were the yields on the two representative outstanding Heinz-debt issues as of the end of April 2010? What were they one year earlier?
· First, we will calculate YTM for long term bond:
	Bond (Due in 2032)
	2009
	2010

	Settlement Date
	30th April 2009
	30th April 2010

	Maturity Date
	15th March 2032
	15th March 2032

	Coupon Rate
	6.75%
	6.75%

	Current Price
	91.4
	116.9

	Frequency
	Semi Annual
	Semi Annual

	Yield
	7.54%
	5.42%


· 
	Bond (Due in 2012)
	2009
	2010

	Settlement Date
	30th April 2009
	30th April 2010

	Maturity Date
	15th Oct 2012
	15th Oct 2012

	Coupon Rate
	6.625%
	6.625%

	Current Price
	116.5
	113.7

	Frequency
	Semi Annual
	Semi Annual

	Yield
	1.69%
	0.97%


· 

3. What was the WACC for Heinz at the start of fiscal year 2010? What was the WACC one year earlier?
· WACC is the weighted average cost of capital of debt and equity.
Here, WACC = Ke*We + Kd*Wd
Ke= Cost of Equity
We= Weight of Equity
Kd= Cost of Debt
Wd= Weight of Debt
First we will calculate the cost of debt which is equal to (Interest Expense/Total long term debt)* (1-tax)
	Year
	2008
	2009
	2010

	Income Tax 
	372857
	375483
	358514

	Income before tax
	1230763
	1319883
	1290454

	Tax rate(tax/income)
	30%
	28%
	28%



Therefore, cost of debt in 2009= (275485/5076186)*(1-.28) = 3.88%
Cost of debt in 2010= (250574/4559152)*(1-.28) = 3.97%
Now, we will calculate cost of equity.
Cost of equity= risk free beta + Beta (market return- risk free return)
The Beta used in CAPM model is levered beta. As it is not given in the chapter, we will calculate it by using data of competitive firms.
Unlevered Beta for competitive firms:
	Firm
	Levered Beta
	Debt
	Equity
	D/E
	Tax
	X=1+(D/E)*(1-tax)
	Unlevered Beta= Levered beta/X

	Kraft
	0.65
	18990
	25972
	0.73
	28%
	1.53
	0.43

	Campbell
	0.55
	2624
	728
	3.60
	28%
	3.60
	0.15

	Del Monte
	0.7
	1290
	1827
	0.71
	28%
	1.51
	0.46


Average 										          0.35
Levered Beta of Heinz:
	Year
	Debt
	Equity
	D/E
	Tax
	X=1+(D/E)*(1-tax)
	Unlevered Beta
	Unlevered Beta= Levered beta/X

	2009
	5076186
	1279105
	3.97
	28%
	3.86
	0.35
	1.34

	2010
	4559152
	1948496
	2.34
	28%
	2.68
	0.35
	0.93



Cost of equity for 2009= 2.90% + 1.34(10.25%-2.90%) = 12.75%
Cost of equity for 2010= 2.90% + 0.93(10.25%-2.90%) = 9.74%
Weightage Calculation for Debt and Equity:
	Period
	2009
	2010

	Equity
	1279105
	1948496

	Debt
	5076186
	4559152

	We
	20%
	30%

	Wd
	80%
	70%



WACC calculation:
	1. Period
	2009
	2010

	We
	20%
	30%

	Wd
	80%
	70%

	Ke
	12.75%
	9.74%

	Kd
	3.88%
	3.97%

	WACC
	5.66%
	5.70%



Note: Risk free rate is taken based on US Treasury Bill (2.90%) and market return is based on S&P500 market return (10.25%).

4. What is your best estimate of the WACC for Kraft Foods, Campbell Soup Company, and Del Monte Foods? How do these WACCs influence your thinking about the WACC for Heinz?

· The WACC for Kraft, Campbell Soup and Del Monte are below:
	
	Kraft
	Campbell
	Del Monte

	Market Value of Equity
	51,876.5 million
	12,937.2 million
	2,747 million

	Market Value of Debt
	18,990 million
	2,624 million
	1,290 million

	Total value of debt and equity
	70,866.5 million
	15,561.2 million
	4,037 million

	Weight Of Equity
	0.73
	0.83
	0.68

	Weight of Debt
	0.27
	0.17
	0.32

	Beta
	0.65
	0.55
	0.70

	Risk free Rate
	3.9%
	3.9%
	3.9%

	Market Return
	10.25%
	10.25%
	10.25%

	Cost of Equity
	3.9%+0.65(10.25-3.9)%
	3.9%+0.55(10.25-3.9)%
	3.9%+0.70(10.25-3.9)%

	
	=8.03%
	=7.39%
	=8.35%

	Cost of Debt (Given)
	5.12%
	4.36%
	6.19%

	WACC
	7.24%
	6.87%
	7.66%


· 
· WACC for Heinz is lower than its competitors; hence it is in a better position. It reflects higher valuation and less risk for Heinz when compared to its competitors. If the objective is to align company’s cost of capital with the market, then Heinz could take on more risk.



5. Why is it important to estimate a firm’s cost of capital? What does it represent? Is it set by investors or by managers?
· 1
It is important to estimate a firm’s cost of capital because of the following reasons:
· Capital Budgeting decisions: Cost of capital works as a discount rate to evaluate the desirability of the project. A project is accepted if it generates return greater than cost of capital.
· Management of Working Capital: COC is used to calculate the carrying cost of investment in receivables, on the basis of which management can devise alternative receivables policy. 
· Capital Structure: it is a combination of equity and debt, in order to maintain a optimal capital structure the firm must keep the overall cost of capital minimized.
· Dividend Decisions: The firm’s dividend policy is formulated based on the nature of the firm i.e. growth firm, normal firm or declining firm. However, the nature of the firm is determined by comparing internal rate of return (r) with cost of capital (k) i.e. r>k, r=k or r<k which tells growth firm, normal firm or declining firm, respectively.
Cost of capital represents a rate of return which is required to persuade an investor to make a given investment. It is set up by the investors when they calculate and decide whether to invest in a projector not.

6. What are some best practice principles to remember for estimating a corporate cost of capital?

some best practice principles to remember for calculating Weighted Average Cost of Capital are:
· It is set up by the market, not the manager of a firm.
· It represents after tax effects in financial policy. So if there is an interest expense, there will be a tax shield on it. Hence, borrowing reduces tax liability of the firm.
· While considering a relevant investment, cost of capital considers current market values over historic values.
· While estimating it, it was common to consider all types of capital employed in the business such as equity and debt.
· It also reflects the capital structure appropriate to the risk of the underlying cash flows. 

